Lesson Plan
Grade 10 Academic Math Lesson: 8

® Unit: __ Polynomials Topic: ___Factoring Practice

B/ homework check: Principles of Mathematics 10 p. 230 # 5 — 12

B factoring practice: Mathpower 10 p. 171 #1-3,#1 -2 * without technology




Y Factoring Pefynomnials

1. Remove the common factor.
&) 6"+ 15x 12
d) 4x’y + 6xy — 8xy’

b) 14y° —42y+21

e) 3p'q + 18p'¢" + 6pg’
2. Factor, if possible.

a) x +19x + 34

d) 15—8t+1#

g 5o —17x-12

B 35t — 14xy + 8y2

my (x+a) +6(x+a)+8

b) x’ — 6x—72

e) 4n’ +13n+9

h) 15y° + 11y~ 14

k) 154" —ab—6b°

n) -y’ -5~y +6
3. Factor completely.
a) 3x’ - 30x +27

d) 24° — 6uv + 49°

g) 4 — 261 - 14t

b) 4x’ + 10x — 24
e) 36x" +42xy — 18y
h) 30« + 87x" + 30

E} Factoring Special Preducts
1. Factor.

a) 25x" + 60x + 36 b) 9y’ — 30y +25

d) 25 - 1694 e) 4x -9y

2. Factor completely.

a) 16m - 64 b) 36 — 16a°

d) 72 - 98y e) 2x’— 28x + 98
&) 32v’ - 160w’ + 200w h) 300 - 48«

1echnology Extension pp. 171

1 Factoring Polynomiais 1. a) 3(2x + Sx —4)

b) 72y — 6y +3) €) S(4x - 3x7 +2)

A) LXYULX + D —Y) @) opy\p T upy T ey

£) 20464 + 2a%h + 4ab® - 30°) 2. @) (x + 2){x + 17)

b) (x — 12)(x + 6) ¢) not possible d) (5 - )(3 —7)

e) (1 + 1)(4n + 9) f) not possible g) (x = H(Sx+3)
h) 3y — 2)(Sy + 7)) (x + 29)(x + 59) ) (x = 4y)(Bx - 2y)
K) Ga — 2b)(Sa + 3b) 1) Qx + 9y)(7x — 4y)
m)(x+a+D@+at+dn) @—y-2)x—y-3)

0) (v + 5)(* - 3) 3.a) 3~ Dx-9)

b) 2Qx - 3)x+4) €) SGy+ D3y +8)

d) 2(u — 20) (1 — v) ) 6(3x — y)(2x + 3y)

£) x(x+ D +2) 8 2tz - 72+ 1)

h) 3(5x? + 2)(2x? + 5) ) 8(x + 1) — 1)(Ba’ + 1)

2 Factoring Special Products 1. a) (5x + 6)’

b) By —5) ¢) Gu+ 8)(3n—8)d) (5 + 13x)(5 — 13x) -
e) (2x + 3y)(2x — 3y) ) (Ta — 4b)

2. a) 16(mz + 2)(m — 2) b) 4(3 + 2x)(3 — 2x)

¢) 5% + 4)(Sx? — 4) d) 2(6x + Ty )(6x = 7y)

e) 2(x—7) ) 3Q2x + 5)’ &) 8uw(2w - 5)°

h) 12(5 + 26)(5 — 2%%) i) 4(3y” + 57

c) & —24x+40

f) 2’ —Sm+6

i) o+ Txy+ 10y’

1) 14a’ + 55xy - 36y°
0) x +2x" - 15

c) 75y + 215y +40
f) 2+ 3% + 2x
i) 24x' - 162" -8

c) 91’ — 64
f) 494’ — 56ab + 16V

¢) 125x" - 80
f) 124* + 60x + 75
i) 36y + 120x’ + 100«"



